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SM2 10.3 — Similarity Homework

Fill in the blanks.

1. Two polygons are similar if corresponding angles are and

corresponding side lengths are

2. If two polygons are similar. then the ratio of their corresponding sides is called the

A!\swcrs are G)Uhd n the notes
Use the diagram below to complete the following statements.

i ile, ul:i- matones Cj Whet matehus A, whed mgdchus B

5, ZN=

- A L
6. /B= LM s gif i
7. AB BC _ ﬁ h M N
LM ~ NL B C

8. Thescale factoris . A A.’\Bc ~ A L MN
ZA= LL

LRY LM
T. Moldnthe lefes L2 LN

L goes with A B = means have Same measvre.
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Solve each equation.

5

2=L 10. 2=2

8 24 5

Cross MuLTiply and solvt

ﬁrx

5(24)= 83X

1. 2= 10 1, 22
3 z+2 w12

Cross L‘l‘\?l\, and<o forx.
5 (2+2)= 3(10)

5z x\l0= 30 sobtreet 10
widg b
do#ﬁo‘??ﬂ&
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The polygons in each pair are similar. Find the missing side length. Show vour work!

13 14. ,
7 _?“;. 14 ' 12
6 :/ 3 2 S . 25 r 212
lite, 2o c bigge & Sdas
";\':32’ | 25 20
15. 16.
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In the diagram below, PORS ~WXYZ. Answer the following questions.

Q
R
14
X
i 15 S
17. Complete the statement of proportionality: _OR RS
WX w
To kn.\ s’“ T hove co(or— coded the
Corve c\m3 sidas.

19. What is m£Z? 20. What is the scale factor?

MLz =m<S

what is the degree

of £5?

18. What is m2P?

21. Find the value of x. 22. Find the value of y.
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For each problem, draw and label a picture of the situation, write an equation, then solve the
problem. Show your work!

23. A company produces a standard-size U.S. flag that is 3 feet wide and 5 feet long. The company also
produces a giant-size flag that is similar to the standard-size flag. If the shorter side of the giant-size
flag 1s 36 feet, what is the length of its longer side?

flag widih 3 _ 3% gt fig wdth

flag length S X
Selve for x

24. You want to make a scale model of the Empire State Building using the scale 1 inch = 250 feet. The
Empire State Building is 1250 feet tall. How tall will your model be?

25. A 5-ft tall person casts a shadow that is 12-ft long. A nearby tree casts a shadow that is 30-ft long.
How tall is the tree?

person hagt & X tree haght

P¥rson shdsw |2 3p 4 ree shadow
%o\\l‘-&f X.




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5

